2010-2011 6TH GRADE CONTEST SOLUTIONS

Answers

26.

9 tiles cover a 6 X 6 section, leaving a 1-unit wide uncovered
area. Pat needs 7 more tiles to cover this 1-unit wide area.

27.

28.

A)13 B4 15 D)16
From 1 to 999 are 249 multiples of 4. Remove the 25 multi-
ples from 500 to 599 and the 18 others that end in 52 or 56.
A) 206 B) 207 C) 208 D) 209

The ratio 3:5 is equal to (10 X 3): (10 X 5) = 30:50.

A) %é B) 13:15 C) 30:50 D) (1+3):(1+5)

29.

My number could be 16 since the sum of 16's factors is
1+2+4+8+16=231, which is less than twice 16.

A)I12 B)16 C) 20 D)24

26.
D

27.

28.

29.

30.

Once around, we go up 3, so we must go down 3.
We must go right 1+2+3, and we must go left
3+2+1. The total distance is 3+3+6+6 = 18.

A) 18 B) 20 C)21 D)22
31. Choose any distance from Brad’s to Caryn’s house. Let's use 35 km, a | 31.
number divisible by 5 and 7. It takes Brad 35+5 = 7 hrs. and 35+7 =
5 hrs. for the trips. His avg. speed is (d km)/(t hrs.) = 70/(5+7) = 35/6. B
5 5 1
52 bt =
A) ) B) 5 3 C) 6 D) 6 .
32. Factoring: (1x2x3x...x48)X(49X50 — 49) = (1X2x3X...x47x48)x492, 32.
A) 492 B) 502 C) 49 D) 50 A
33. Player 1 plays 9 games, then leaves. Player 2 plays 8 other games, 33.
then Jeaves, player 3 plays 7 other games, then leaves, and so on. The
total number of games is 9+8+7+6+5+4+3+2+1 = 45. D
A) 100 B) 90 C) 50 D) 45
34. Subtract 6 from each choice to find the number 34.
of cats with spots. We get 2, 3, 12, and 18. The
number of cats without spots for each is 24, 23,
14, and 8. Since 3x8 = 24 = 18+6, it's choice D. D
A) 8 B) 9 C)18 D) 24
35. The decimal is 0.0185185.... An “8” ali:pears in the 35
3rd, 6th, 9th, ..., 2010th decimal place. So a “5” is in the 2011th place. .C

A0 B)1 Q)5 D)8

The end of the contest E‘ 6
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Solutions Turn the page for detailed contest solutions (written in the
question boxes) and letter answers (written in the Answer Column to
the right of each question).

Scores Please remember that this is a contest, and not a test—there is no
“passing” or “failing” score. Few students score as high as 28 points
(80% correct); students with half that, 14 points, deserve commendation!

Answers and Rating Scales Turn to page 152 for the letter answers
to each question and the rating scale for this contest.

Copyright © 2011 by Mathematics Leagues Inc.



9 il 23ed pxou ayp 03 UO 0D

el

'g¢

yect (g oveet (v

'0€21 = €¢I X 01 “Areury 01
= 0€ZL + 00€TT “UBYL "00E T 398 1 ‘00T 189183 33 03 GHE TT PUnOI T JI

¢zt (a ozt O

Rt

6X8XLXT (4 6x8x/ (V

(01 pue 930 ‘P8 ay) x (6 X § X /)
SIOI><6XSX.Lpueéxngxg;O'p'a'SaqL

6x8x/4x9 (O

0Ix6x8x2 (A

ve

00st (@ 009 (O 00¢ (g o€ (v
"0€=00ST X 200 PUe 70’0 =20 X T'0

€

w02l O 1081 (4 1ee€l (V

"10z8T X 1029 = 1006 = 10201 X 1026

10261 (a

K44

079 (O 009 (@ o0zTs (V
*00:9 210J9q sanuru 310}
ST 0Z:G pue ‘07:g St OF'F 191y sojnuiua Ay104

0%9 (a

T¢

‘0¢

61 (a g1 O 91 (g PI (V

T = €7 — £E ST ODUDIAJIP IRV "CT SI (7 ey 197eald Iaquinu
surid 3s€3] 8 pue ‘Zg ST O UeY) s3] Iaquunu awitid 3s33ea1s Ay,

‘0C

61

9¢ (a e O ¥e (4 e (v
‘gg =7+ (6¥ + 1) ST6F PUe ‘LF * ‘ST ‘€T ‘T7 J0 dSeIane Y],

‘61

‘81

:H sy (a g1 O 91 (g v (v

81

LT

‘g st a[3ueOaI [PUISLIO A3
887 (a w1 O (4

Al JO BaIe 9, '§ JO BAIE U SEBY U3 0S ‘7T SI
9¢ (v
‘sawuny gz SALIP 11 08 ‘887 = G + OFF1 PUE ‘SOINUN (FF = STNOY $T

L1

91

ql

)

4!

sa[8uridar asay} JO ¢ JO Seale PaUIquIod Y,
‘seare [enba oAy [[e sa[8ue}dal [[ewWsS § Sy L,
€9 (a o0c O ¥z (g L (v
€9=7C+9T+8+F+T+1

91

¢1 (a AN} 6 (4 L (V¥

e 2ARY (] JO 9SeIoAR UR IIM SIDQUINUOM],

'/ ST I3[[RWS A} ‘T = £[X/ UIG (T JO wms -

Sl

1T (a 0O ¢4 ¥l (Vv
‘Ganqejag ut saul] snq gy aIe aIdY],

‘g¢ 0] ¢ WIOI} IdqUInNU 3y} Se awes o} st

99 0} ¢¢ WOy ¢ Jo sardnrnu Jo Bquinu YL,

v

SIIMSUY

CSAINIINTNS ISTINOYY I(AVND) HI9 LL10Z-010T

9 <l oded xau sy3 03 U 0D

123

\4
€l

010¢9€ (A 11029€ O o109 (A 21029 (V

“z10z9 = 11029 X 19 = 11029 X 9

€1

sc@a 1w gr (@ 71 (v

"1 pue g1 a1e safe juasard 1oy
‘ang uey} I9pJo S1eds 9 S pIg ualép, ‘03e s1eak
7 Sem ang se pjo se sem pIg ‘o8e s1eak § gy

1

0% (@ o0z$ (v

‘07$ =00T$
30 94,0z Sem ueq £831d 1oy ur junoure ayy

1eaf 3se] ueq £331d 1oy ur gog$ seYy [PYPRY

091$ (@ 08$ ©

At

%5Z (O %L (4 %y (v

"Areniqaq ur sAep gz oy Jo 9467
=G0 = 87/L ST sAep £ =>pam | 08 'sep gg sey Areniqag ‘110z Ul

%se (a

01

089% (a 9¢zt O 001 (g 9¢ (v
V0L =9S+0E+2T+2=(8X%2L)+(OxQ+(Fx€) +(ZxT1)

werdopqerd (q  prozaden (O snquoyr (g  o[duepas (y

‘reorpuadiad are sapis juanelpe g Auy “saue 1y § sey o[3ueipr y

0 (v
‘1T x T 9onpoad

¢ (@ A®) I (g

USA3 3UO AJUO ST 313y} 0S ‘PPO SI SIdGUINU Ppo oM} Jo Jonpord ayJ -

Z (a 9O v (g ¢ (v

"9 pue p ‘¢ £q qISIAIP ST9GH EZT OS ‘95 SIPIATP  Pue ‘[ ST Wns JI3Ip Y, °

001 (a 099 O 006 (g 0001 (V
"000T =01 X 001 =01 X (FE€ + 99) = H€ + 99 + HE + 99 + F¢

+99+FE+99+FE+ 99+ FE+99+FE+99+FE+99+PE+99 +FE+99 °

v O 0z (4 a1 (v
6F = (09 % (F/€) pue ‘s1orjouwr axe sjuared

Sy (@

09 33 JO SYHNOJ—3211} ‘DI0J3ISY ], "SIdyjour axe sjuared Inoj jo a9y -

v
T

g (a L O 9 (g e(v

(I+2+9)XTTT = TXTTT + TXTLT + HXTTT

g (a ¥ O z (g 1 (v
P=7+0+ T+ 18I0 £q papIAIp ST

T+ 0T+ 10T + 110 WNS 3Y} UdYM I9pUTewal oY, *

6t@ ozcO 1l wlv
"7 198 03 39qeydre a3 ur S19)39] 97 93 WOy

a1dde, ur pasn s19)39] JuLIARIIP F 9 PENING

stomsuy

SNOILNTOS L1$SIINOD IAVID HI9 110Z-010T



